.:\—\"\:\‘:‘;\111111 u o)
Soiel 3z, .
. s . e . ~ -
] 74" MAX. O.A. FRAME WIDTH — 3‘{5} 5 c‘u_-n.' Zlfg &
| AR ] 2 phe o
N > dgen
PERFORMANCE STANDARD i gof i
5 8R. 8
s 23
P
© 2V X
o maoo 3’
Opaque Fiberglass Door P S
c
(1]
paqg g P R
]
(a]

"NON-IMPACT"

CERTIFICATE OF REGISTRATION # F—11852

6 U)
INSWING / OUTSWING TP =
£z of 0=
B e} o
<z ZT= e
P Z — = L
o= =T @ < o=
2 L0 X X s [45%
=5 == =[5 ys
~ T © < L ol
<« 7] (%]
< 0l Ll
& vy U4 SE
EVALUATED FOR USE IN THE STATE OF TEXAS 'g 5 a9
The Fiberglass Door system described herein complies with the 2018 International 3 | E ket
Residential Code (IRC), Sections R301 & R609 and the 2018 Intemational Building & g o
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the
following conditions: o >
—J
1. Anchors shall be as listed and spaced as shown in the details. Anchor L
embedment to base material shall be beyond wall dressing or stucco. sI9
2. When used in areas requiring wind-bome debris protection this product is =0
required to be protected with an impact resistant covering that complies S % (ZD
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. S1215 |
3. Allowable design pressure requirements must be equal fo or less than the I ; = g
design pressure rating shown in the design pressure chart, sheet 1 of this g N
drawing. If:’ N|=Z E
4. Conditions not covered by this drawing are subject to further engineering = PlE| [
analysis. 8™
[ LY
“18|3
SIS
TABLE OF CONTENTS NEE
SHEET # | DESCRIPTION . _|NEGATIVE | POSIT EGATIVE S Bl
1 Typical elevations, design pressures & general notes B N
2 Astragal details (Ultimate Multipoint) XX INSWING "5500 +40-0 '40-0 ol 1= S
3 Astragal details (Ultimate Huricane) PINE Zz
4 Door panel details XX OUTSWING -60.0 +55.0 -55.0 oATE: 8/31/16
5 Horizontal & vertical cross sections SCALE:  N.T.S.
6 Vertical cross sections INSWING DWG. BY: JK
7 Frame anchoring "FusionFrame" CHK. BY: LFS
OUTSW’NG o+ X . X DRAWING NO.:
50.0 50.0 TX—4633

SHEET 1 ofF 7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, TX-4633

@ 2016 R.W. BUILDING CONSULTANTS INC.



CONG BANVYLINSNDOD BNIaTnNg m'y 9102 @

SNOISIATY
2681 L—d # NOUVMLSIOIN 40 3ILvOI4y3D «.:/:OQIC.QDE m.h«éequv -
SHIANIONT “IWNOISS3JONd 40 QuVOE SvX3L Ad J1vQ [ON| o} . " ~
L616650 018 on ououd STVIIA TYOVHLSY S41 ONILS3L M3N ¥04 31vadnigL/10/01] 1 T m X L a3 rm
G6SEE 4 OSWIDA OCZ X0 'O°d \§ ‘ATBN3SSY ¥0 Livd 3000 0¥1/061 8L0Z OL 31vadn ol e
*ONI ‘SLNVLINSNOD ONIGINg g §41 %® NOUdO . 8wbljuoisnd, aav| 61/61/6| 2 W e M v,A 2_
oz ~
.. . = H
£ZLYOL# 'T'd SWXAL veNaNI £ m $1%|3 W
‘I'd IPIWIYOS "4 uopui :Ag petndelqd sjULWINDO(Q 10NG0Yd SI1B1518 &
£rteg N
V4
4
b
T
e O =
0L e o wolos <3
SN JO?CQ..W, ~
......... PERRNIS IS «
...... WA P PR -
o DE | I | 3
A Y] 2 = E
AR S lﬂ 9 a
Ey TR N ) o O -
e | % . =
SUeiyes i
N 3 3
o) o
5
= Lo A
R I 2 o
S i 3 2
P R T
i m Wm
. 5 N
d S = &
° 0.0 m M
e | 9 *
—
<
Q
O
= —t
| 0 M
~Noo2
h m _‘ mN... ]
m [ _
5 5
2 ke
3]
< * 8
N o
| » :
) f) =
o % 1)
p= <
ik
in
™~
M_ M ma 59T
w ; , ~
i: 5 L
. 5 4
o
@ = [%d
; 8 ¢ 2 z
. & 3
oL 2, 2 L
dOl s € a Z
e G Q <
w A = >
3 58 & %
e} 2 0
g = = .
- ] )
S [y o— &
g = > #*
5 « X g
= - —
g x %
[7¢] Q o
5 @ a3
v W X3
N &
=0 9 ‘
- mw W
> £ [7¢]
¥* T Q@ = <
oy u- O
ViR O
| 3 8 <
< Q £ oz
8 = 8 5 %)
$ F ot £ <C
S ) 2
[ " < < Z
) T \d < ©
A W) % : ¢ O
e\ d 7 x T\ m 2 =
2 c 3 s D
5 & i . g =2
< € Q i} an LL}
) o B 3 S F—
o oc 2. £ <€
> 0D £
o 5 <0 z =
2 g 57 g 5
© — O z R |
b %. = oD
o [o)
Q. >
a
E N RN

Z'L 'BMpogeeap-XL\sBumelq - D7) anbedo o4 s)uosEN §58-HA - |AL\SUI J0 1d3Q sexa] - G\LNINVINYId enpuz\siuaID\y



(2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE
(REINF. POLYMER)

UPPER BOLT SLEEVE

(TRIM COVER REMOVED)

=

TOP

(REINF. POLYMER)

ANCHOR SCREW LOCATIONS

{2) #8 X 1-5/8" PFH
WOOD SCREWS

1.75"

7

2.65"

0.063" —= =

ASTRAGAL SECTION

58" — T 35.5" -

HARDWARE LOCATIONS

5"

r-——»l— 1.63"
T’y

i

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FlL. 33585

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

ENDURA
PART_OR ASSEMBLY:
ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

PRODUCT:

FS
LFS
Y

UPDATE TO 2018 IBC/IRC CODE

9/19/19 |ADD “FusionFrame” OPTION &
10/01/18|UPDATE FOR NEW TESTING

ULTIMATE HURRICANE ASTRAGAL

BOLT RETAINER
(GF NYLON)
i 9.5" A,/ j i
-1/2" — ]
SLIDE BOLT ROD T #BX2-1/2'PRH WS DEADBOLT STRIKE
(STEEL) PLATE
#8 X 2-1/2" PFH WS 5
‘ih..
/ LATCH STRIKE
BOLT RETAINERS 7 PLATE
SLIDE BOLT ROD LATCH & DEADBOLT DETAIL
ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

2
1

NOJ| DATE

oaTE: 8/31/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4633

SHEET 3 oF 7

R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4633.36.dwg, 1.3

CERTIFICATE OF REGISTRATION # F-—-11852

REVISIONS

© zo12 R.W. BUILDING DONSULTANTS INC.




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4633.36.dwg, 14

STILE (LVL)

LOCK BLOCK 1.6"
[WOOD: 21" LONG)

STILE (LVL) INTERIOR
14" EXTERIOR
@ HORIZONTAL CROSS SECTION
4
35.75" MAX.
PANEL WIDTH
>
|
==
4
=
()
=
2 ©
> (o)
3 X
8
SEE HARDWARE
TABLE
DOOR PANEL
Masonite
Fiberglass ~ MANURALIURL

DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES

DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)

[991)

TOP RAIL
[(WOOD)

FIBERGLASS
DOOR SKiN

INTERIOR

FOAM CORE
N

BOTTOM RAIL ™ [f. 7

(WOOD COMP.)

&/

ul
oy, e
T .
St Hyy M £ 0
Joo i o o
v S £2 8 b3
Foel 2L & T 1
o S R U [ %] Om oY
o RSNy - Z z |
ol 10 e et = ogn e
o ERED: S c FEZ
St 122 53 gocz S
{}O". ".%).'. El— Q—-’g% °Q
?g‘-):.'- .'-O:- 3‘ _’Eq =
NI 17 3 7>v
. Qivgis 2o &
~ g5, 2 ¥4 23S s 8Rr. B¢
— W™ @ o xg o
K Z 3 ‘6&.
5 g .2 .o
§ 3592 Bp
o mogo og
m
=
5 &
E @ 8
=
0
o
o
V3]
=
<
—
iw
(=T
g 4
=T Lo
Q 2 =2
= 9 <IN
L ol &5
g x©
<
EXTERIOR o NESE
O g2
a
o &
© <
[a 9 o
[¥s] Ny
ot IS Bt 129)
W
=)
]
&0
=0
S| 2
H\-}_:
a5
SIB|8] |»n
R =2
0|0 o
£5|5 n
Lg(\JZ L>._J
ciOfx o
Si=Io
@1y
S
AP
£l
Q
210
s
- ol |o
N o |2
— NS N
o] ==
RN
NEE
_lo
N bd
oate: 8/31/16
SCALE: N.T.S.
DWG. BY: JK
/ 2"\ VERTICAL CROSS SECTION ow v LFS
DRAWING NO.:
TX—4633

SHEET 4 oF 7/

© 2016 R.W. BUILDING CONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DBN\C - Drawings\TX-4633.36.dwg, 1.5

o~

OO

2X FRAMING
(G >=0.42)

~prr )

O

¥ 11

EXT. SHEATHING  pl| 4

DRYWALL

B

4
' WOOD SCREW L
1/4" MAX. ~
SHIM SPACE ™ X —— T #10X 3" PFH
TN =) 258 148 MAX. — WOOD SCREW
e/ X X v < SHIM SPACE
4 =000000]
DOOR PANEL f DOOR PANEL
™~ HEAD: PINE N HEAD: "FusionFrame"” (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650
b 4 A\ W
EXTERIOR INTERIOR EXTERIOR INTERIOR
4NV 3 R 2"\ VERTICAL CROSS SECTION @ VERTICAL CROSS SECTION. =~
CORNER PADS v 7 7 é / Outswing shown - inswing also approved utswing shown - inswing also approve
(TYP) %
0.15"
VAMAX. e CSINK 1/4" MAX.
SHIM SPACE (YP) SHIM SPACE
EXT. SHEATHING JAMB: "FusionFrame”
(1 OR 2-PIECE)
) JAMB:PNE U ONT L e
0.7 0.75 | 0.75 L / . #10 X 2-1/2" PFH e
!,____ — 7 #10 X 2-1/2" PFH WOOD SCREW
|-~ WOOD SCREW
ULTIMATE HURRICANE ASTRAGAL
COMPOSITE X FRAMING ULTIMATE MULTIPOINT ASTRAGAL
\ SNAP-ON G >=0.42) ENDURA WEATHERSTRIP
CAP (G>=0. (QEBD/PE 650) ENDURA WEATHERSTRIP
\ / DOOR PANEL (QEBD/PE 650)
%
3 ol
=)
| 2N S s 2
JD DRYWALL / /
—| 125 L—m, 195" e #8 X 2-1/2" PFH #8 X 1"PFHSMS  #8 X 2-1/2" PFH LATCH #8 X 1" PFH SMS #8 X 2-1/2" PFH
' —— 125" j=— WOOD SCREW S HNGE WOOD SCREW o~ 1#prry STRIKE PLATE HINGE WOOD SCREW
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS
PINE "FusionFrame" "FusionFrame" m HORIZONTAL CROSS SECTION
(1-PIECE) (2-PIECE) w Inswing shown - Outswing also approved

|~ #10X2-1/2' PFH

2X FRAMING
(G >=0.42)

~\

-

¢il14

EXT. SHEATHING  fii|4]

k|1 1M
¢l

DRYWALL

oA u R T
XN E"};}-‘L} .
s

,‘1')-":‘5'\‘“\\."111

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

EXT. SHEATHING

2X FRAMING
(G>=0.42)

DRYWALL

P.0. Box 230 valrico FL. 33595
Phone No.: 813.659.9187
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
HORIZONTAL & VERTICAL

PART OR ASSEMBLY:

PRODUCT:

CROSS SECTIONS

F
LFS
BY

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/19/19 |ADD "FusionFrame” OPTION &
10/01/18|UPDATE FOR NEW TESTING

2
1

NO/| DATE

OATE: 8/31/16

scALE:  N.T.S.

OWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4633

SHEET 5 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



INTERIOR

RAClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-855 Masonite FG Opaque (LK,.DB)\C - Drawings\TX-4633.36.dwg, 1.6

\\

EXTERIOR
DOOR PANEL
v

ENDURA
DOOR SWEEP

/ (DBK-R)

2%

AN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
\6/ Inswing Adjustable Threshold

DOOR PANEL

%
T /
00000 -

N0 Q

INTERIOR

EXTERIOR

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

VOO

1/

\l\ EXTERIOR

\
D

INTERIOR

DOOR
PANEL

WEATHERSTRIP.
(QEBD/PE 650)

DOOR PANEL =

______

Ty

ENDURA

INTERIOR |

[EXTERIOR

ALY
v T1E

«3-:3
<

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/2> VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

u Inswing Arhculcmng Threshold
w/ Pin Capture

w Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico Fl.. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F-11852

w)

=

o

=

S

Lit

w

= n

S iy @

a 13 <

Z o &

muzJO

7=

QS

5 ® &

2 o ¥
o F
& <
a o

b7l I ] P

-

UPDATE TO 2018 IBC/IRC CODE

L ‘ R o |
| 456" ! = 4.56" ! ! 456" | 456" | ! 456"
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
1 1AIL4565 2 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
MAX. DESIGN PRESSURE = +50 PSF MAX. DESIGN PRESSURE = £50 PSF MAX. DESIGN PRESSURE = £50 PSF
AR } R
1 I | &
: ! 456" — , 4.56" — ! - 4.56" v l L——— 456" ————*’—’
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 JACL4565 7 IAC4565FN ZACLAA4565 IACAA4565FN IACA4565RDS
MAX. DESIGN PRESSURE = +50 PSF MAX. DESIGN PRESSURE = +35 PSF MAX. DESIGN PRESSURE = £50 PSF MAX. DESIGN PRESSURE = £35 PSF MAX. DESIGN PRESSURE = +45 PSF
! ) |
[ [ Tl >
< X :
! { i =)
! 456" ! ! 4.56" ! ! 4.56" L—M 456" ‘
OQUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 QUTSWING THRESHOLD
1 10OBL4565 7OB4565FN LOB4565RDS FOB4566
MAX. DESIGN PRESSURE = £55 PSF

9/19/19 |ADD "FusionFrame” OPTION &
10/01/18|UPDATE FOR NEW TESTING

NO) DATE

2
1

REVISIONS

oate: 8/31/16

scae:  N.T.S.

DWG. BY:

JK

CHK. BY: LFs

DRAWING NO.:
TX—4633

SHEET 6 oF 7

© zo18 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK, DB\C - Drawings\TX-4633.36.dwg, 1.7

JAMB NOTES:

HEAD ANCHORS:

#10 X 2.5" PFH WS

il

4

I/
[/

Ced.

/4
[/4

DETAIL 1

ASTRAGAL STRIKE
PLATE @ HEAD JAMB

#10 X 2-1/2" WOOD SCREW {(PINE/2-PIECE JAMB)
#10 X 3" WOOD SCREW {1-PIECE JAMB)

s O 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB)
2ox {BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB)
508 \ 2 -— &
< R ~ (P, T (TYP.
é
U\ oy $
] SEE HINGE ! AR !
T EEQ‘/ DETAIL 1 }
E‘ﬁ_ ﬂ SEE DETAIL 1 5 E
N I8 I . JAMB ANCHORS:
} 4 |
Eﬁﬂi T 4
SEE HINGE
DETAIL 2
SEE DETAIL2 OR 3 —
Ll <z
in O
TRV
| L [ L1 4V 1 ]
4 (TYP) SILL ANCHORS:
s #10 X 2-1/2" PFH WOOD SCREW
4" (TYP.) .
4" (TYP.) 1/4' X 2-3/4" ELCO OR
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW
- CONCRETE [MIN. 3000 PS)
WOOD (G >=0.42) FRAME ANCHORING

XX

*NOTE: THESE ANCHORS REQUIRED FOR D.P. > 40 PSF.

THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints. :
2. Concrete anchor locations noted as "MAX. ON CE|

NTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

’Tw " Ll
7APCcON® | 3/16 1-3/4
W : N
tapcon®| 1/4 1-3/4
E LCO " " " ul
uttRACON®] 1/ 1-3/ 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 17 o.c. spacing of
wood screws to prevent the splitting of wood.

ASTRAGAL STRIKE .
PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
=Y © 7 © — e g
1/Z'DIA.-HOLE pepaj 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

3/16" X 2-3/4" ITW CONCRETE SCREW

OR

#8 X 3" PFH WOOD SCREW

] —/ #8 X 2-1/2" PFH WS
e |
mn '. -
#8X1 PFH‘WSé:‘ i ~~ #8 X 3/4 PFH WS
"— 4" X 4" HINGE
\
A\
HINGE DETAIL 1
| #8X2-1/2'PFHWS
9 -
1" /. :
#8X 1 PFHWSé:. 1], SISt #8 X 3/4' PFH WS
~— 4" X 4" HINGE
HINGE DETAIL 2
ASTRAGAL PIN CAPTURE

COMPONENT (UNDER CAP)

b
0N
-
83 2 o
‘év— [l [ITR's1
S [0} Wl ©
S 8 z-
B ul Om (.')T
‘ = z
u:ﬂ. = N~ il
c gdg L
) o
2 <02 %g
€ ETID =
> dg0 unk
D25k, 0
n~R NE
g T
Z 0w o
8 [o 3] 7o
i) ON = g
[}
oxz %
k] Zz 0 h'b.
a =g06 9
0 5Q¢ %E
T @oa o o<
me
2} g ic
L
£ &
2 b}
E & go
3
0
o
[}

(@]

=

S

& S
& .

a A=

= o <

Lej EL:J
3%}

B 2

<} o2

5 of
8 (@]
]—-

@]

& %
[+ 8 o

D=

] I B 09

UPDATE TO 2018 IBC/IRC CODE
REVISIONS

9/19/19 |ADD “FusionFrame” OPTION &
10/01/18|UPDATE FOR NEW TESTING

NO| DATE

2
1

oatE: 8/31/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY:

LFS

DRAWING NO.:
TX—-4633

sHEer 7 ofF 7

© 2016 R.W. BUILDING CONSULTANTS ING,



